VI 1

000 00000-00000000000000 —
oo viogooooooooogo

[0oo0]
00000000000000000000000000000000000

gobooouogoooboobooobbooboooboboboobuooboon
gobooboboooooooobobbobobooooobbobboooooon
goooobobouobooobbobobobdobooooboobbobooboooobano

0oo)
00000000000000000000000000000000000

gooboboboooooboooboooobooobooooooooboobooooon
OO00000D0ODODO0000DODODOO000 shiba@amath.hiroshima-u.ac.jp

goboouooobooobboood

. Joooob00oobUb fOoobobOOoOobDOoOooOobOobOUobo
goo

/f(z)dz:O
c
gobbooobboooooboboon

fle)=z=1

0000 2m0000 (D0 620000032000)0000000
gbogoooooooobobobd

2. 0¢00000000001/(2-a)000001log(z—a)000000
0000000+000000+0000000000000000
Z/000 2"00000

1 1 1 -

I ! = d = — 1 J— ,

1 . 2=z 1 v
= -—[log|z —a| +varg(z — )., = -~ larg(z — a)];_,
211 2



VI

000000 arg(z—ae)00 0000000000000 0O00OOO
000000000 0o00I(v,e)00 200000000000
UeDODDODOOOOD 2z0000000000000

000 I(y,e)DOOOOOOOOY 0000000000 OODOOO
000 :0+/000000000D0«0000C0O00O00O00OO0C0O0O
goodooooogod

[00] 0000 /0D000000C000O02r02mi0000O0O0O0OOO

goboboobbboobodbobodobbbodooooooog
gboogbooogbobooboboobobbooboobbooooobd
gobogoooooobood

vz =2(t), a<t<p

O0007(e<7<p00000000

Tz = 2(t), a<t<rT
gooboodogd
Fr)= QLm . zd—za
goodn
Fi(r) = ii T2 (t)dt _ L 2'(T)
dr2mi J, z(t)—a 2miz(T)—a
googdno
% (2(1) — a)e_%iF(T)} = Z/(T)G_F(T) —2mi(z(T) — a)F’(T)e_F(T)
= [¢(7) = 2mi(2(1) — a)F'(1)]e ¥ =0
good
(2(1) — a)e 2" (") = const.
goooog

(2(8) — a)e™ ™) = (2(a) — a)e 2"



VI

gobbdbydb e 0O0D0OOO0O0OOOOO0OOO

2(0) = 2() # a
000000000000

6—27riF(B) 6—27riF(a).

00000000000F(3)—F(e)00OO0000 (00000000
00)0

[DooOo)
000000000000000000540()000000000
0000000000000000000000000000000
000

[00] OO0O0OA0000D0O0O0OOO0O0ODOOOODOODODOOOOOO
gboobooboooobobbobboooobooboooooon

. 00000 mMOe«O00«000000000000000OO C(a,a)

000000000000 00000000y00000 C(a,a)00
gon

a>10000000 2/(z*-—1)000 2=10000000 D(a,a) 0
00000000000000000000000000000000

/ zdz / zdz
C(a,a) 2zt =1 B C(a,a) (Z - 1)(2 + 1)(22 + 1)

= 2mi {(z n 1)?22 + 1)] 2=1

00e¢>10000000000000000000000<a<10
0000000000000000000000000000000
0000000000000000(000 C(a,le)00000)00
00000

gubiodbddo<e<1O0O00O000O0OOOODOOODOOO
0000000000000 000000e=1/200001/2<a<1



VI

4.

0000000 0<a<1/20000030000000000000
000000020000 e>100000000000000300
00000000 2/(z*-1)0000 D(e,¢)00000000000
000000000000000000000000000 00000

000 e=1/200000000000 2/(2*—1)0000 D(a,a) 0
00000000000 :=100000000000000000

gogodoeotuoobboogn

/ zdz i
C(1/2,1/2) 2zt —1 4

goobobobodn

a=000000

a3, 1 m
/C;dz— 71'2? |iﬁ€:|z_0:27m§:§.

UO00O0<e< 100000

e* e*
- dr=92i | —
/Cz2<z2 —a2) T [z2<z+a>L_a

62
o2l | ————
e {< —a)]z__a

P I
e
T omi K )}
Z2_a2 z=0

a__ ,—a 2(52 _ 2 — Ve
:27m'{6 e +{e(z a®) — 2ze

2a3 (Z2 _ a2)2

|y

o et —e ¢ —g? o e —e @ 1
= 2m 205 + o = 2m 72(13 +§

-
= ;2 (sinha — a).



VI 5

a=100000

/672(12_ P
2@ -0 T " [2Er)] .,

.{e—e_l , _ez(zQ—l)—Zzez} }
=T + m
2 z2=0

e—e !
= i
2

— 2mi = i (sinh 1 — 2).

5. ugubuoobbiu~ydl=10000 z=-10000000
(00o00o0O0)oo0oooood

11 1 1
22—1 2\z2—-1 2z2+1
O00000z=10000 z=-1000000000000 100

gogoboobbd ~~00bodbogobobgbboobbod
0000000 kmi (kez)ODODOODODODOO

6. OO Ooooooaoon

1 6Az 1 6Az
2mi Jopz) 22+ 1 21 Jogo) (2 — @) (2 + 1)

A —iA
_ € € . Lo —iX
ST A
=sin \

7.0ogg

P+add=(z+a)(ZP+ar+a®) = (z+a)(z—a)(z—F)



VI 6

00000000000
o] =|8l=a; a+pf=-a, af=ad’

OobobobooooboooboboobobD4d 0y —a,,pO0000
00000 D(0,2¢) 00000 OOOCODO

/ dz / dz
C02q0) 2>+ a? co2q) (2 T a)(z —a)(z — B)

= 2mi {(2 T _1 a)(z — ﬁ)]z—o

+ 2mi L(Z — oj(z — ﬁ)]z——a

e [z(z e ﬁ)]

) 1
e [z(z T a>L_ﬁ
ddddoooooodno 2mooooood
1 n 1 N 1 n 1
wb " Talata)atB) alata@—p) BB aE -

(1 1 1 1 1
N Qm6+—ww)+a—ﬁ(am+aY_Mﬁ+®)
= 0+0=0.

gologbbdouogooouoobooboooooobboooobg
040 0,—a,q,p 0000000000 0O0OO0 z=0000000
00 D(0,e¢/2) 000 0000000O0O0OCOO0OOOO

/ dz / dz
C0,a/2) 2° + a? co2q) 2(2 +a)(z —a)(z — B)

1
aa)f

B 27

= 27

a3’



VI

8.

9.

10.

gbobogogbobooooooboo

000000000 CO000000000000000 (CO00O0
00)00

1
: h Zginh 2 Py
sinz, coshz, osin (z7), 1€

gogbobbobogbodogoouoobobbobbbooogd
guobbbuogoguoobogboobobobobob.

T

(1) / cos zdz = [sin 2]™ . = sinmi — sin(—mi) = 2sin7i = —2sinh 7.

(2) / sinh zdz = [cosh 2]]" = cosh i — 1 = cosm — 1 = —2.
0

T Vi
1 1
(3) / zcosh(z?)dz = {5 sinh zQ] =5 sinh mi—sinh 1 = —5 sinh 1.

-1

i LT 1 o
(4) / Bt 1y — {—62 } _ {6( +i)t (1) } —0.
1—i 4 ., 4

1

goes0oooobbobogonon

00000 0000 (000000)000000000000O0
OOob0obOo0oobobooooooboogbooobbobgoooo C
00000000 (00O0Ooo 2%/6)0

02000 1/-000000000CO00000 2m000000OC"
gboooboggooooon

03000200000 CO000000000000000000O0
goobobogogoboobbobodogooboboooboad
0000 Ccooooooooogoooooogg

[00] OOO0OO0OO0OOoOO00OOOOOO0O0ODOOOOOOOOOOO
000000000000000000000 —2"2/200000000
ooooooo!

g400000000000ad

11 z—1
—lo
gz—i—l

2



VI

11.

0 —000000000000000 —0o0ooooog ce\sS[-1,1]
gbobooooboooobobooboo ;DDDDD

(z=1)(z+1)
gobbogobbbooooooobobobobbbooboooon
gl buogubboooouobbbooooboonbn
goodgd

z—l_
2+1

A e d

:(, zeC\ S[—1,1]

O0C\S[-,1|0000000000000000000T=C\R~
0000000000 leg¢O TO 10000000 (h40000O0ODO
TOOoOooooo)d

0000000 O0oooooooooooo S—L,1oooooo (O
000000000000 2000)000000 400000000
goobobbodagd

gbbobuooboououoooodyb1boooogobbbd
gobboboooboooobobbbuooyb0bbooooogo
a0 0D000000DO0 2mer,0000O0OO0O0O O.

[00] ODOOOnOooOoOoOoOoOoOoO0oO0Ooo0OOOoOOooOOoOOoooo
gobooobobobboboooboboboooooobobooooooooon
goobooboooboobobobooobooboboo

e? —e”

F(z):=

Z—a

gboboboooouooooob oe0b0Db00000 «0ODDOO0DOOD0OOd
gooobobDbooboooboooooon

4 a
) —e
lim = e
za z—aq

gooboobooooobbibooooooboboonooobobooooon
0b0Cf«.0O00OCDOOODOOOGOOODODOODODFODOOOOO
oooboboobuobdoUF0 e 0
oooopoboo0o0OOFO0 GOUOOODOOOOOODOO Gooooo
bbb —0b00bbobgeb000ooobooooooobobd —y
goooo




VI

12.

13.

14.

15.

ooooboobboobobobo k0obon

4 a
/ € dz:/ € dz = 2mie’k
Y Z—a Y Z—a

000000000 (000020000000 0oUoooOoOooooO
gbogdy0000000000000DO0O00O00bO00b0bO0 yOO0OOO
UOtr=00000 kF=x1000000000ODO0ODODOOODLODDODO
gbooobobobboooooboooboboooooboobooooboobd
gooobooooo

6(1

(n—1)!

00000000000 f.(2) = (sinz)®V000. 000 f.(2) =
+sinz0O0O0O tcosz0000000.00000000 f,,10 £cosz
000 Fsin2000.00000 f.(2)2+ foni(2)?=100000.

goobogoggoood goo.

vJogoooobogoo.ggbooogogboboooan,

u(0) +v(0) = 2%”,/0(0 )Mdz

00000.00000000000 C(0,p):2=pet (0<t<2m)
000000dz=ipetdt 000

, 1 u(z)+iv(z) , 1 (7" L
u(0) +iv(0) = 5 /C(o,p) fdz =5 ), (u(pe”) +iv(pe”)) dz=

gbobooogobooobogbbooogbooboa.

[00] 0OO00OO0OOO0O0O00OO0O0OOoOoOobOOoOooOoOOOO

000 p(0<p<1)0 10000000000 OODOCOOOOO

10 =g [ I [ e

N 211 C(0,p) z

0000000000000 000000o0O0 380 3)Dooood

01 =] [ st < - [T tpen

gooodo



VI 10

16. 00 f(a) £A00 00000000000 pODOO0O fOO00O D(a,p)
000000000 o00000O0 300000000000000)O
000000U(x,y) :=log|f(z)] (#=2+4dy) 0000 D(a,p)00O
00000000000 D(e,p)00 000000 fOOOODOOOO
Joooobooobovboboobboooboobbooobobooo

ooooobb 4000ooboonoo

1
o

Ul(a) /0 ' Ula + pe™) dt.

[00] 0D0O0200000000000000100000000000
— 000000000 —000000000000000000000
00000000000000200000000000 logf(z)0000
D(a,p) 0000000000 —100 2000000 1000 f(z)00
0000000000 —0000000000000000000000
0000000000000000000099000000000000
00000000 (0000000000000000990000)00
p0000000000000000000000000

17. 0000000 p(0<p<ROOOO

u(0) ! /0 Fu(pe“) dt

"o

000000000000 pO0000O000 RO<R<1H)OO pOO

goodd
R2 1 27 . 1 2
7u(0) = g/o u(pe”) pdtdp = g/o u(z,y) dedy.

[00] 0000O0000000000000000000000000
000000000000 w0 u(re®)00000 uw(z,y)0000000
0000000000000000000000000000

18. «000000DO0OD0DO (010)0 f00000000000
00000000 C=p?0000eED0OOO0O ('eCc\DOOODO
00000000000000000000000

1 f(z) if 1 f(z)
0=— ~_d = — d
211 C(R,0) z — C_l = f(pe ) 211 /C(R,O) z — C :




VI

11

gboogdoooooogon

iy _ L f(z) RS f(z)
Flee®) = 2mi /C(R,O) z—=C 4z +27m' C(R0) # — 5_1 o

goooobogn

C(R,0):z=Re" (0 <t <2m)
ggoooo
2Z2= 2| =R? Zdz+ 2dzZ=0; dz = iRe"dt = izdt

goobobooogbboooobbg
1

f(z) f(z) 2z
i (fC(R,o) ﬁfl'z - fC(R,o) L ;dz)
Lo (zf(z) +Cf Z)) dt (> =)

w0 \z-¢ 2-¢/)
_ % 2 4(2) (Zi<+<fz) dt
- ke (o) @
_ % ;”f(@%dt
- % o f(Re") Qpr zo§<§2_ e

doooooooooooood
|z — (> = R?* — 2pRcos( — t) + p*.

gobooobooon

u(pe') = L /%U(Reit) = dt
Pe) = on 0 R? —2pRcos(f —t) + p?

godn




VI 12

[00] DOO0O00OO0O0 M400000000000O0DOCO0ODOOOOO0

R2 _ p2
oooon
R?2 — 2pRcos(0 —t) + p?

goboboboobboooooooon
goooooon

[DooOo)
0000000000000 (¢00000000000000000
0000000000000000000000000000000
0000000000000 00000000000000000

19. (1)UDDDDDDDDDDuzz+Uyy:0DDDDDDDDDDD
(Uz)z = —(uy)y = (—uy)y
gdgooodono

(Uz)y = (uy)z = —(—uy)s

00000 0w, -+ 0000000000000000000000
weCHEO00000f :=u, —iu,0 GOOO00000

(2)00 GOOO0OOOOO300  POOOOPOOOOODOOOO
OO0O07000 GUOO000O0bODO0OOOo0ooboOooDon

Lﬂ@wzﬁwfmmm+mo

/urdx—i-uydy—i/uydx—urdy
P

//{ Uy)z — (Uz) }da:dy—i—z//{ Uz )y + (Uy)y } drdy
:z'//TAuda:dyzo

OooobOobooooooobooD foobobooooo



VI

13

[D00000] Opp. 106 -122

1.

2.

r0oggdb0e00rot X =00rot X = 00000

1080 0000070000000 OOO0COOODOOOO(COG6.)O
goooooon

1100 0000000000400 (200)0800 (60 0)TI9O O (20

0)00000 0000000000000 ¢00OoOooooood
good

00000000 120000 — (000 zyeGOO00O00O0ODO)—0O
OO0 e>000000000 pdtdogbobobon

D(z0,p) C G MO Omax |f(C) - f(z0)] <&
D(zo,0)

00000000000 {@UuboOoooe00OOs000000O0O0OO
O00000000000000)<e0000000OD0ODO 40000
goboooood

11300000bb o000t noboooooonoog 2
00 1/200[|]000000000000O0(COoOoO0C0O0Oooood
Ooooooooo)

1140000000000 CO000(@0O000)oo00oreEeod
0000000000000 00O0 113000 (00o0)oooooo
gogoogoo

115000000 8)0 de(z) O de(z) 0000000

117000000 612000 100 f(2)/(z— )20 f(O)/(¢ — 2)20
000

(118000 650000000000 OOODODODODOOOODODOOOO
goooooboooooooboobomivbboboongea3d
gbboodoouobouoooobbooooonbon




VI

10.

11.

14

googo

(¢) (¢)
€=z ((—2)

5#(0),

[0O0] 118000 6500000000000 0OCOO0OODODOOOO
godbell10DDbO0ODDODOOOO0OOO0ODODODODOOODOODOO0

118000 6500000 30000000000000006.1100
000000000 2 € D(z0,p0) 00000 2 € D(20,00/2) 0000
000000000000000000000000000 po/20 po
0000000000000 000000000 6110000000
0000000000000000000(00000 p/200000
00000000O000000)

120000003000 ~000000000000 C(e,e)0000O
gooogdn



